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QUANTITATIVE APTITUDE

QUANTITATIVE APTITUDE

QUESTION 1                                                                                                                            Right mark: 1   Negative mark: 0.25

हल कीजिये/Solve It

(1)16
(2)17
(3)29
(4)22
(5) None of these

(RRB CLERK PRE 2022)
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QUANTITATIVE APTITUDE

QUANTITATIVE APTITUDE

QUESTION 3                                                                                                                            Right mark: 1   Negative mark: 0.25

हल कीजिय/ेSolve It

3
175.616 +

3
0.175616 +

3
0.000175616 =?
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1 −
99

2500
=
49

?

(1)55
(2)125
(3)250
(4)50
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QUESTION 5                                                                                                                            Right mark: 1   Negative mark: 0.25

हल कीजिय/ेSolve It

26% of 84=21.84 +?
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(3) 6
(4) 8
(5) None of these
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QUESTION 6                                                                                                                            Right mark: 1   Negative mark: 0.25QUESTION 14                                                                                                                           Right mark: 1   Negative mark: 0.25

हल कीजिय/ेSolve It

33
1

3
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3
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𝟑 𝟓 + 𝟔
𝟐
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QUESTION 8                                                                                                                            Right mark: 1   Negative mark: 0.25

हल कीजिये/Solve It
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(4)-1
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QUESTION 9                                                                                                                            Right mark: 1   Negative mark: 0.25

14×27-152=?% of 250

हल कीजिय/ेSolve It
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(4)77.5
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QUESTION 10                                                                                                                           Right mark: 1   Negative mark: 0.25

49% of 350-50% of 55=?2

हल कीजिय/ेSolve It
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QUESTION 11                                                                                                                           Right mark: 1   Negative mark: 0.25

हल कीजिय/ेSolve It

(1)0.6
(2)0.7
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(4)0.9
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18 15of2 17 15 2 ?    
(Practice Question)
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QUESTION 12                                                                                                                           Right mark: 1   Negative mark: 0.25
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(4) 405
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QUESTION 13                                                                                                                           Right mark: 1   Negative mark: 0.25

हल कीजिय/ेSolve It

234096 12167 49 (?)  
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(LIC ADO PRE-2023)
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QUESTION 14                                                                                                                           Right mark: 1   Negative mark: 0.25

1 1
92% 1 650 65 ?

6 23
    
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QUESTION 15                                                                                                                           Right mark: 1   Negative mark: 0.25

3 2 7 2
7 1 3 ?

4 9 8 9
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हल कीजिय/ेSolve It
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(3) 6/11 
(4) 11/12 
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